
Rezgőkör-gerjesztő erősítővel
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Mérések


f = 1 kHz


I (egyenáram)= 50 mA


Uj =20 mV – 1,4 V


Uh = 0,4 V


hangerő: megfelelő





Mérések





f = 1 kHz


I (egyenáram)= 20 mA


Uj =20 mV – 1,4 V


Uh = 0,3 V


hangerő: nagyon gyenge
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R3 = 2,5 (


R4 = 82 k(


P2 = 1k(


C2 = 470 nF 


C3 = 500 (F


T3: NPN BC 182








Uj : a ger�jesz�tett rezgés 2*A-ja


Uh : a hangszóró sarkain mért jel 2*A-ja





Mérések





f = 1 kHz


I (egyenáram)= 40 mA


Uj =20 mV – 1,4 V


Uh = 


hangerő: gyenge
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Ut = 1,5V– 6V


R1 = 150(


R2 = 1 M(


R3 = 2,4 k(


R4 = 500 (


R5 = 50 (


P1 = 120 k(log


P2 = 1k(


C1 = 1000 (F


C2 = 470 nF


T1, T2, T3, T4 :


 PNP BC 212








R3 = 2,5 (


R4 = 30 k(


P2 = 100 (


C2 = 470 nF 


C3 = 22 nF


T3: NPN BC 182
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